Division par Puissances de Dix (C)

33+ 1072

30+ 1071

93 +- 107!

87 + 1073

61+ 1072

51+107°

13 =103

81+ 1073

58 =107

89 + 1073

Trouvez chaque quotient.

24 +107% =

76 - 1073 =

54 +~ 1071 =

88+~ 107 '=

81+1073=

11 =102 =

38+ 1073 =

26 +107t =

89 +~ 1073 =

1+10"2%=
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Division par Puissances de Dix (C) Solutions

33 +1072=3300

30 +10'=300

93 + 10" =930

87 + 107 =87 000

61+1072=6100

51 +1073=51000

13 +1073 =13 000

81 +107°=81000

58 + 1071 =580

89 +~ 1073 =89 000

Trouvez chaque quotient.

24 +107%=2400

76 + 1073 =76 000

54 + 1071 =540

88 +~ 107" =880

81+ 107°=81000

11+1072=1100

38 +107°=38000

26 +~1071 =260

89 + 107 =89 000

1+1072=100

MathsLibres.Com




